
https://www.pass2lead.com/1z0-1082-20.html
2024 Latest pass2lead 1Z0-1082-20 PDF and VCE dumps Download

 

 

 

1Z0-1082-20Q&As

Oracle Profitability and Cost Management 2020 Implementation
Essentials

Pass Oracle 1Z0-1082-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1z0-1082-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-1082-20 PDF Dumps | 1Z0-1082-20 Exam Questions | 1Z0-1082-20 Braindumps                                1 / 3

https://www.pass2lead.com/1z0-1082-20.html
https://www.pass2lead.com/1z0-1082-20.html
https://www.pass2lead.com/1z0-1082-20.html


https://www.pass2lead.com/1z0-1082-20.html
2024 Latest pass2lead 1Z0-1082-20 PDF and VCE dumps Download

QUESTION 1

Which type of application Is created In Profitability and Cost Management? 

A. Management Ledger 

B. Financial 

C. Standard 

D. Cost 

E. Detailed 

Correct Answer: C 

 

QUESTION 2

Which two statements are true about allocation tracing? 

A. You can trace allocation inputs and outputs both forward and backward. 

B. You select the rule you want to trace In the trace parameters. 

C. Allocation traces can be performed across multiple business dimensions simultaneously. 

D. It is a graphical representation of how allocations flow in and out of application elements. 

Correct Answer: AD 

 

QUESTION 3

Which three are valid statements about batch processing in Data Management? 

A. Batches can be executed from EPM Automate. 

B. Service Administrators can configure security to limit which batches users can run. 

C. Batch processing combines one or more data load rules In a batch so you can run multiple data load rules In one
step. 

D. Batch processing combines one or more dimension builds In a batch so you can run multiple dimension builds in one
step. 

E. Batch processing does not support parallel loading of data files. 

Correct Answer: ABD 
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QUESTION 4

Which two are valid ways to delete a dimension member? 

A. importing a dimension structure into the application 

B. using EPM Automate 

C. using the Dimension Management feature 

D. using Smart View 

Correct Answer: AC 

 

QUESTION 5

Which set of dimensions Is required for Profitability and Cost Management applications? 

A. Two system dimensions (Balance and Rule), at least one Business dimension, at least one POV dimension 

B. Three system dimensions (Balance, Rule, and Drivers), at least two Business dimensions, at least one POV
dimension 

C. Three system dimensions (Balance, Rule, and Drivers), at least one Business dimension, at least one POV
dimension 

D. Two system dimensions (Balance and Rule), at least one Business dimension, at least one POV dimension, at least
one Attribute dimension, at least one Alias dimension 

E. Two system dimensions (Balance and Rule), at least one Business dimension, at least one POV dimension, at least
one Alias dimension 

Correct Answer: D 
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